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Iach question has four posaible answers. Chooso tho corroct answer fro
them and darkon the approprinto circle completely in the OMR sheet Wi
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8§ ARG G FVIRIS
CHILD DEVELOPMENT & PEDAGOGY

1. QAR  SQURAER  QEFENn | 1. Why is thore multigrade

VNS QI QNG el ? tonching situation in olcmontary
A) 6HMGRN UAIS Z‘/‘\')“"’\'; ! ol
= R = ant of classroom
(B) G‘?Qq‘“ . SISl gale : (B) Making teacher more active.
RN i (C) Less number of teachers in
» (0) 6§aN AQAILER @F| QW proportion to the number of
FRQ YR, classes.
D) Qeral an Gl 8669 (D) Maintaining discipline
2. Qomye quq Jalell  6RGe - 2. Which onc of the following is the
= ‘ most important in learner-
QQQSQ QTR LA} wi’m ? centered learning ?
(A) @ B) <G ° (A) Teacher (B) Child
(©) @gggg (D) adeae (C) Content (D) Environment
3. 6990 QUG @@@' JAQE RS 8. Which one is' not related to
ggel a°aae aeg‘?" ? competency-based teaching-

learning ?

(A) A lesson is divided into
some smaller units.

(A) QI06Q 6R6CYFY 6816 6816
9QRQea gRIs @I |

(B) @Q% gEQ 9ANQ ROR
QAIRAER ARIAINAN |

(C) gEeYe QUG!G VG AU6Q
2RAAG

. (D) Qg e@ela daee 6

FeaQIAy 9@ Qaeer
QaUAIRaN |

(B) Competencies are arranged
serially from simple to
complex. :

(C) Each competency is based

 on previous competency.

(D) Teaching-learning of all

~ competencies = . 1is done
simultaneously.

—————— ————— ————— ——
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4. Q6QdQI AQIY 69Q g9
aQ|E ?

A) QaIggee

(B) 6318

(C) QoKL

* (D) <Quegie

w

5. 69QC 9QNVIQ @ ARIS 6T ?
A) ORYCIARI
B) FSIQE QAR
» (C) geoGag
D) geAdy

6. 6990 dFQAe JFVE ARG ANRE

Q6% ?

A) JQIQIe JIEG AR
R '

.(B) @8IGe QAa6a Ta9°gR
acg *aQ!

©) Fagal 2WEgd IS
Il

(D) QIS Q& QA6 TR
=l

7. BQegR G QAR AQAIFIQ AYY
62QT : :
e (A) NG GRS
(B) 633@ FQld
(C) RIQIAR IS
(D) IZR QUG

OTET/P-1
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SET :| B
What type of assessment is the

entrance test ?
(A) Summative
(B) Diagnostic
(C) Formative

(D) Placement

Which one is not an assessment
tool ?

(A) Checklist

(B) Rating scale

© Progress card

(D) Homework

The use ef TLM is not associated

with :

A) Te make teaching learning
pleasurable.

(B) To cover the course content
in time.

(C) To create motivation for

learning.

(D) To teach concrete concept.

Continuous and comprehensive
assessment mainly aims at —

(A) Holistic development
(B) Scholastic development
(C) Cognitive development

(D) Conative development

(Contihued) ‘
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8 Bao v s y following is not
8. {NEQ QO 66Q AQF QeraIRC! Which of the following
QNREQ O] Q6% 7

correct about creativity ?

(A) Creativity is universal.

(A) QERQIRGI AISERIR
open

(B) Creativity 1S

(B) QeR8IReI 9aes!/C QsQIzaq thinking/& adventurous.

QIdYy AT .
and . sociability

(C) Creativity

(C) QeRaIRel B 6ARIA1 QT are positively correlated.

ARALINNES AFARC school

(D) Creativity and

. (D) QER9IREI B IR AITMIE! achievement are not

QI0Qae Q6 AFRE ?j_‘j"@ correlated.

9. Q89 gI0y G ARYIRY AZAI0Y FRL 9. Which method of evaluation is

Qgeol  QafIge aaes  6ea
JRYINE O8GT TRIe AT 7

effective for assessment of
scholastic and other ca-

(A) QIR scholastic areas ?
. (B) Q09 (A) Placement
(B) Comprehensive

(C) Q6!
(C) Aptitude

ol
(D) QUL _ (D) Diagnostic

10. G69I9 6906 Y@ &a8sq 98 :
419 Rl 10. Which of the following 1s not a

Q6% ?

continuous assessment ?

(A) a@egdl
(A) Motivation

—————
—— ———"
s — —
——

(B) <46 (B) Learning
(C) Q@4 (C) Development
* (D) Q@ (D) Growth
OTET/P-1 4 (Continued)



’ _ 7&11. QIRAUS 1069 7679 69AES gy -
/ -
. 69748 RIGe dFGQ 9@ 99l
Q6L ?
A) a9A8Q Q°000 @l

(B) 196419 6QQ1 B 2IPQLTS
g QEMR] 219 @A

V@ 2IPQEQ A6RAYS
(D) o939 QIdica afee *ael

12. 21906941 d8l 6R9Y6q I9Id
Q6Q QIF ?

(A) g6aQ@/699¢Y @ 928 Q@6a 8
QAR0IQ AVRAR QEQ

(B) Q@Rel 9@ QAR @8,

Q12 928 A

QP @Ee JFE Q7

g6c4ednl 9IR AVLAR

o (C)

(D) 2Qeel 9@ AR U,
R I8 QM /2GRS

13. UDL @ full form, (¢4 90@ &)
Q8 ?
(A) Universal Demand for
Learning

(B) Universal
Leadership
@#(C)

Uniform
p D)

Design for

Design for
Learning
Universal  Design  for
Learning

OTET/P-1
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11. According to Bandura, which of
the following is not a process in

the observational learning ?

(A) Organising the behaviour

(B) Attending to and perceiving
the behaviour ‘

©) Rémembering the behaviour

(D) Converting the memory

into action

12. Inclusive education does not

believe in
(A) Accept difference and
celebrate diversity
social

(B) Diversity 1s a
responsibility, accept it.

(C) Learning individually is

beneficial for every child.

(D) Handicap is a social
construct, deconstruct
handicap.

13. UDL stands for

(A) Universal Demand for

Learning _
(B) Universal Design for
Leadership
(C) Uniform Design for
Learning
(D) Universal Design for
~ Learning
(Continued)
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' followin
14. 396Q gea 60@ dAIPAdaS 14. Which  of  the o g

_l
. 5 behavioural  examples best
& = i
QQLAST AVCgdIa  QEUYEF ; illustrates  the  concept  of
QRIS U6C ? motivation ?
(A) 469, ora 2Re ¢] (A) Paresh h}as shown steady

TOp—

effIgeq Joeide Qg progress in his ability to
relate past and present

AARe RAQIQ @V6!I FAG8
historical trends.

QT QA2 |
(B) gecie @@ 910y CIFQ
QENRER FeIq QRAQIQ

(B) Sitanshu has increased his

practice time on the electric

B T TR

guitar from one hour to two -

2941 QA9 1 a9Ig 2 99U hours per day.
QT QA8E ' (C) Rita has always shown a
(C)-Q181 A6 9096q ge 2Ige keen interest and capacity
o in the reading.
G @AC! g9 Q83
- ~ (D) Manisha long . ago
| '
(D) Al Qg@@@ Vi developed the habit of
ANERNAQY ARSI AR ' looking up unfamiliar
R6QUQ ANYID IRTC AR words in the dictionary.
15. Q6€Ig ¢rIg 609 QT JFaa 15. Which of the following best
. ] explains the meaning of
g ACRIFY WIEQ YRINAN ? learning ? .

(A) Rie LR 2§94 (A) Learning is 'a construction

(W (B) @24 A6RQYQIa ga & Fae of knowledge.

(Calaeel QA eI

(B) Learning is a memorisation
of facts.

(C) Learning is a change due to

906 @ Fe
' maturation.

(D) 96 6298 quGaede
QLTI ARQER
OTET/PI

(D) Learning is a change in
native tendencies.

Y TS st Y03 WiLaM0 ) AR W L ) iR YALMSLARS Yo imei > Tovsoms s

(Continued)
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16. dadl qies aeclg 96 g

17.

18.

19.

L4

21Q 69a dgeleq  aIoigNg.
2TCIRRAG 629 7

(A) AN IO
- (B) 2256941 QI04gH
(C) 907 aloiga
(D) 62U AIOYFE

. R6QIQ ARIQ 62AG 6A1MIQT FRIL
AR 9IR N9 I YQgI g6F 7

A) QQIFe dKl
(B) QLR 90R @Q F]IQUR
(©) qq@ﬁm QIGIGE

« (D) 9AE @RN08

6Ra 6QIPIT JVda 6 QAR
QARG Q6L ?

(A) 212QE — ARINAR
(B) 21298 —IQE

(C) 21298 —geald
(D) Q& —gealsl

G6qlg AaIQ 6@QC JF8x YUY

OR Ql6R @dIQ AIF ?

@) 96 acaauIags Qg

(B) 34 628 ASKRIR

(C) T[S 62AR QUEAIRR

(D) d9§ 6298 I
A60Qgel 9F9l

eay

OTET/P-1
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16.

17.

18.

19.

SET :[B]

To meet the diversity, we should

have

(A) Spiral curriculum
(B) Inclusive curriculum
(C) Special curriculum

(D) Core curriculum

Which of the following is not an

educational provision for

talented learners ?

(A) Accelerated education
(B) Small Group Instruction
(C) Enrichment Programme

(D) Ability Grouping

Which pair is not related to the

three components of learning ?
(A) Acquisition — selec_:tion
(B) Acquisition — retention
(C) Acquisition — application

(D) Retention — application

Which of the following

statements does not reflect the

nature of learning ?
(A)
B)
©
D)

Learning is purposive.
Learning is universal.
Learning is adjustment.

Learning is memorisation
of facts. g
(Continued)
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20. QI AQIQQAIER aﬂ;OIGQ- | 20. According to Palmer, behaviour
AIPQASGE QQQ@‘Q @lel 99 pattern of a child changes with
Qgag ?

) SRFIeRl. » (A) Adulthood
B) cdacieql (B) Infancy
(C) @@IG (C) Climate

.« (D) S8 QI ggiel (D) Maturity

21. @@ 99Iegl | < FITIR aduIaa 21. What is the average time period
QIAULIT NG AKY €Q6Q ? of pre-natal stage ?

A) 350@9 | (A) 350 days
(B) 320@% | ‘ | (B) 320 days
(®) 316 ae (C) 310 days
(}D) 280 @Q (D) 280 days

22. Q@ Q¥ @0Aq 641eRIAa RIGE 22, Name of the period lasts from

AA9g @6 gRIAN ? age of two to puberty is —

&) edaqiagl (A) Infancy

¢ (B) QINYISYI QI QIR 6@6aIQIg! (B) Childhood
(C) GQG‘SHQWQI , (C) Adolescence

(D) QeeIag (D) Adult

— S BT LS i —S B W D S0 Vo TS VL) YLD Yoni e
wum— - e oy
N
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23. AIAQIA  Q&FQ

6RQ  2AQQIER
QAR IQIG FgR 6QNRAN ?
A) edaiegl
- (B) 1Y QiyIegl

(C) A QUMY

(D) 6[6qIAGI

24. §6QIQ 6@Q0 QF B FHQ 9@

25.

26.

QLY QIR 2ET ?

A) QIQINER YRl AAEC4
B) Q&ae!

(C) 21690 AR

D) 65 QAR

G6glg 696 R IR {ad
Q6% ? -

A) 9g9Q Al

(B) QI81Q 4Qg

(C) geIgaIea fad

(D) GgacIa Fad

20RRE F6IgAI6a F67I9 6QAT

gIQ-6@648IQUGIER AT

aQIaQ e 688aY Q6% ?

(A) Q9% Ieeq  AQEAINe
2196l

(B) QIFIGR FJMIEAY
(C) QAIFAAAREG 68124 AFS

(D) QUATR 2IPAE

OTET/P-1
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23.

24.

25.

26.

SET:| B

of human
physical

In  which stage

development
development becomes slower ?

(A) Infancy

(B) Pre-childhood
(C) Later childhood
(D) Adolescence

Which of the following 1s an

external factor of growth and

development ?

(A) Environment in the womb
of a mother.

kB) Intelligence

-(C) Emotional factor

(D) Biological factor

Which of the following is not a
principle of development ?

(A) Head to feet

(B) Near to distant

(C) Principle of predictability

(D) Principle of discontinuity

According to Hurlock' which of

the following is not a

characteristic of social

development during pre-

adolescence ?

(A) Elders’ recommended
behaviour

» (B) Social values

(C) Distribute ' toys among
peers

(D) Social behaviour - .

(Continued)
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27. What is the first stage of

cognitive development ?

27. 6918 SqI9Q gaq aduag @' |
QeIAIg ?
s (1) Q6ARIQR AYIS
B) gI| °RI41 Ay
(€) gR QIdyud! adiig
@) Qeige aeqigiad adue

(A) Sensory motor stage
(B) Pre-operational stage
(C) Concrete operational stage

(D) Formal operational stage

28. 6QQ6 QIdiAIRIA VS  ARE 28. Which one comes under activity-
E’J@@:@ ? | based approach ?
(A) 2IERIFRI AFG (A) Discussion Method
. B) geg aad (B) Project Method
(C) 2RIQ 98T (C) Practice Method
D) Q@G‘I ARG (D) Narration Method
29. qdgQ QE6Q 6@6e  64dIYI 29. In human zygote how many

cgleqlsale] @ YIge 6QYY
a@alg ?

pairs of chromosomes are found ?

(A) 20 pairs

(A) 20641l |
' (B) 22 pairs
B) 2264Igl '
(C) 23 64Igl (C) 23 pairs
D) 24691 (D) 24 pairs

@
S

30. 2@1E AgAYE AICEq 66l S What is the normal intelligence

6Q18Q QI QRYIE JQAAA 6R6C ? range that most people possess ?

——— —— ——————
A W —) ——————— o i—— Vi—

(A) 80 Q 100 @RYI& (A) 80 to 100 IQ

v (B) 90Q 110 @8MIS (B) 90 to 110IQ
(C) 100 Q 120 Q&YIS (C) 100 to 120 1Q.
(D) 709 100 Q&Y (D) 70 to 100 IQ

(Continued)

ek
(=)

OTET/P-1



31, @I OUEQ FMIG 950 998 38 GOSmI? A2 935299 199
o960 €98 90248 owge somel’ 23 geee gFog g |
ERDDIED F1Z 7 [ s (4) SESIRS9Rad RS
» g0 ®) z% (B) BRI BB GR1 A

Vi & 5 @) 93 (C) a2 €snsa AI2 |IFS

’ — — — —

32. FEQNRD YD O2TL T21Y | (D) €zE g2 SRl 432
(4) a5 ®) @z | 39. 297 ‘gl 520 9552452 ?
€ g9 » (D) <= () er=e .(B) Sarg

33. €997 85491 02 6% 7 © <es2 D) a=a

»(4) <99 (B) 22 }o4o 297 dg 22 219% <9 |
(©€) oma (D) <992 <2 ciza comife 498 sed

34. €99 627 ‘A’ 9049 691950 90 7
i) D9 . (B) €22
g ©) @9 D) 22

(4) zisade B) assaige
W) Bdiae D) 9§19
41. Beyea ai@el géq ¢ eod
geio IaIflR 2I19a 2 ?

(A) €94 6 a0

}Ozs G619 49 6w 9°° 029
9423121 909 €21021Z 7

(A) 122 ) d (B) @ae Gade

36. ‘9271 69T <éiol 2 . (D) ¢g94 G @A

Q@o ad @'6 7

(A) Gag a9

(B) <all aQgel

©) aAIfIeY ARIR 209 a8ga
. (D) GoI2 9 ¢

42. 6RGF QTS A0RA AI2QE ?
(A) 699R AI0YYYRR VALY
AL '
(B) A0y gge QOR QqTe

i

i

;

|

|

i

|

!

(C) ade . D) gt ; (C) Q¥e G a0

|

|

l

|

|

|

| ARLHRE QAR
|
|
|
|
|
|

. Qe 3aQ1eld 6QNR 99T (C) dioidgeq ISRIAR
37. ‘a8 «a:m gae Q POV, L
Zf)laﬂqe (B) 9ge 62Ql
' (D) dI0Y QER QAEC AR QIR
©) 296 ® aed (@) @t 99 9
| ' Q0% QGal

OTET/P-1 | : 11 (Continuéd)
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47. QEWIY AAQY ¢ QARIAIN 6aY

QQERa gRaIn §e% ?
» (A) dRIa aea QUG QIS
(B) Faisia Qioiqas 9ge
(C) 2ERRS A6 Y
(D) 2R 2AKQE QA6 YA

43. gl gaea qeaIsl 88
6RAT AAIGEL ?
» (A) 6413Q0IQ IR AR
B) §9¢, @R, A0 B AW
98Q 2V QRS
(C) @S g2 8 QS gRIF aa

Q& Qe
D) el g8 g QI QQIeaq cea O] 694ad QLR
QARSI

R, 99 QI AINQ MILIA QAQUQ
Q2IQIRgSl g4 699 9219 949 7

4. aQ1d 6 IgIQ1 ARIAILS 5
44. 918 69R AAURIFIA Q @) ediead 9ae

60@ CIQ ARQE atard ?

_ . (B) Qa8 AR
@) e8I 6QIISIYS! ©) 98 ARQRE GRS
. (B) QISR QA€ (D) QAGHIAGH

(C) QRS @S|

|
|
|
!
!
!
|
|
|
!

' % 48. 69T @R, 9@ QI QIR AYIAQ
!
I
l
!
|
|
i
i
|
i
|

(D) QUSI RLIQ FAIQ VG ‘

49. 6990 JRUINAQ QS Q6L ?
@) dadinee @6 218ss fda

45. cods ogigF GAINRda QA | At |
qes ? (B) dQIg AINSQ 6QIIGANSI @
A) g0 N\ | 2GeITa FRY ARG FRAR!
(B) Q{RA¢a e (C) QIQQ AR} A} VASIQR
v (0) @608 ?lm‘@@mm
(D) 2RURQA MLLIQ D) ﬁkgl?ﬂﬂl%‘ @8 dgen oIl
ada Qaal

46. GASIFRIEA 6R1ET F0Q el AR 50. 6RO Q9 2T AYUNR NSRS

ALEAQIQ 99RI 6aQIQ 626@ 604 Q6% 7

sh JR 98 CIEA QTS NI
Q) age (“") Qgel
®) 4 (—) (B) AVAYLQ FYM 2@ 6AYS
© ea(,) (C) UG QPP UKD 6AgS!

!
!
I
|
E
i
|
!
i
i
i
i

v D) e (()) ¢ D) SN TLQ LA KGRI
OTET/P-1 12 (Continued)



FeRdl:  9aR AgERedy a9F /° 51 §
@°. 55 A2 99960 99Q QI8 |
AR QAT RIS I°2E 6QIQ

QaeQ  QAYMe  6LURB 1 QIeE

QBRCIQIQ1, A°QIARIRT 6 AIFIDQ )

AR ALE QAT ARIFIAIAER 26eQ

A6 2ILIe 9T 9Q8T | g QeI

AQ0IQ 6941 IR 62A] ALAEIRG!

QU AAQD AV TG gReIae

AR QI NI FRUAIQ R O]

NQ° QIR AIPYER AAMAUF A[YY

dIAE | N2 ) Q6L QY Qe 69

QARG QAR I AGAd  qAQHAIG

2QEAINE FQYR QAUNCEOR, 2CHAR 6

QANFR 6IFAINE QAAYIR 62X QT

2138 | 694 FIC1A YRS AVRC! RUEQ

gode @ 62IR Q@Q° AYeR IR

ARGYQ QAEQ Qe 629 QUPR1A | AR

CRAFIE OF AAGEA AR IAQ 6L,

Qo QRIS A9y g6gl /DSl @l |

2Igara 2l KISl QTG AGHIET

QS A°YY 629 QAR QS aa1Q

ARG 9e° A°Y4] 6RK19Q8! 64Ig 6T

Aigiey 947 9gRl | AI9e KIGQ g9

gag @ @16 2°g4 ¢eR @a 6 |

g 604 G AUNQ 9@ A9 629! LG

aed QYA Y@ e 639 629l

QN | NRIFIAl  gaIage @l

QIFEEeR YRl dE6 SQIeAe AIYER

FaRel AIea VAT QY AU

alke | :

OTET/P-1
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SET:| B

51. @RI, A°QIAQULT 3
QrgeIde agqIew 6alg @4
Q98 ?

(A) 6996 2QIeGel QUITE |

(B) ¥G F190Q 2IF 6208 |-

(C) RN01G QLG 6IQEx G
) Q8 62@8 | '

(D) 629Q TR QUIGIG 62T |

52. QAL FIRUAA RAG Q'8 ?
A) §I3 6 681 goal

(B) 29 3919
(C) 4R 19 8 A2 987
. (D) 9Le9IRel dl daguQgl
SSRIAI

53. QAUAGEA RG1Q IRGI AL QAAEQ
goge ?
;; A) QYR IARCIQ 9@
(B) aexel
(C) Q9IQ QA
(D) UIA QALK
54. QALY RIRFUIA QTS Q@4
ATITFRIER A°YP 6291 QGG ?
@A) Q1 QARG
¢ (B) QoI9e Ay
(C) 2°94l 62Q1RE
(D) IS AL
(Continued)
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55. FI9Q RITQ gIGCAR €A A16 56. CRAAIEH 6AleeE eleeqg @

e o s 23

A°gg QOR }Q 6QQAN ? ' @B QIF ?
s (A) @RI QARSI 9e° Qg A) @AIR NG
6RR1RAE G £ (B) Q@491 U
(B) QgIoQIal @16 | (C) Q@Y S
(C) Q°QIANL! ¥1@ (D) dR° Q4D

(D) QUFERAUL Q18
57. 9@, d@ 6 Qg 9F AR

Seda: B¢ goa @A6IT 9§ @°. 56 Q gI91g A88 QAQ QIRAIE] 7
@°. 60 9IS 999 e Qg | ' (A) QI2QAFIA
QRele 693 AeQ 708 (B) 0% a@gn Il
215 @ 908 S19 a9 | | ~(©) eaR g
gg @2 g6d ¢ 68 22IQ, (D) q8gIQl
§66 AARRI 9RUN QI | S8 Hl9a Qe & 7
6AReEm AT 64IR QRGER, @& as . ® o8gq
QUGYE TP @ U6G @QER | © Qe O sl
og, &°e, QUIg 6262 U8 O, '
oI Q168 G gRI3 6@1aR | 59. QIIGIAI A8Y AMFRG ARAR
cdlan eae BIQ A6E T, G960 QISR QR 7
ead 9aI6Q I8 AUV IR | - (4) @al B) ®IQ
Qualealg 31 @f F1994, © 9% D) €aR
RS foR 969 QIe 96 |
QI UV QIR 6Q [e8 A,

|

| " .

| 60. cadfer 04 A2C QAIR ?

” 5 l @) FReg a8e 4§

QI 629 26 YO6RICH B ? ; (B) A9 2AAR AU6R aide

|

|

|

!

|

QU 6RIER GIQ 716 A&, 69gR9QI 3
Qe AAIFER 2B aAgEn | ©) 96 TR 6ALAIER U
60 9] AQ6R AIF AR, QQEes

9ea & 6ag 999 AAIS ? (D) URGRA 4G |
OTET/P-I 14 (Continued)
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61. The man bumped into the pretty
young lady not
accident, but purpose.
The prepositions to be used in

the above sentence respectively
are :

« (A) by, with
(B) on, by
(C) by, on
(D) in, on

62. Which of the following is
grammatically acceptable ?

(A) The commandos entered
the enemy territory after
midnight stealthily.

The commandos entered
the enemy territory
stealthily after mid-night.

(C) The commandos entered
stealthily the enemy
territory after midnight.

(D) The commandos entered
after midnight stealthily
the enemy territory.

63. Which of the
suitable for conducting
Formative Assessment in

lastic domain ?
AA) Multiple Choice Questions
(B) Oral Questions
(C) Conversation Skills
(D) Projects

64. What type of evaluation
identifies learning deficiencies of
the learners ?

(A) . Summative

u/(’B/ Diagnostic

(C) Continuous
(D) Placement

OTET/P-I -

following 1s

65. Listening and
"knownas_____ .
(A) Primitive skills
B) odern skills
Primary skills
(D) Advanced skills

66. Apart from the four basic
language skills what are the
other skills of language ?

(A) Learning and memorizing
Creativity and imagination

(C) Grammar and principles

(D) Thinking and reasoning

67. We New Delhi by this"
time tomorrow. (Fill in the blank)

| (A) -will reach

: (B) will be reaching

! (C) - will have reached )

% would have reached .

"speaking = are

68. The post-modifier in the noun
phrase of the following sentence -

| is

“The man next door is a very

fine gentleman”.

(A) next door

(B) The
(C) very
M) fine ol
69. In the system' of language
teaching and learning  the

system of constructing words is
called .

(A) Semantics

(B) - Morphology

v Syntax
(D) Phonetics
context of Enghsh :
70 ‘Speaking Skill’ is the ab111ty to ;
speak English .

(A) intelligibly
xyﬁ‘:")/zonﬁdently'

(C) courageously

(D) with an English accent

31 (Continued)'
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Read the following passage and
answer the questions : (Q. 71 to 75)

excavations of
have

Over the years,
Pompeii and Herculaneum
revealed a great deal about the
behaviour of the volcano, Vesuvius,
eruption of which wreaked havoc on
these cities in 79 A.D. By analysing
data, scientists have concluded that
the eruption changed large portions
of the area’s geography. It turned the
Samo River from its course and
raised the level of the beach along the
Bay of Naples. Meteorologists
studying these events have also
concluded that Vesuvius caused a
huge tidal wave that affected the
world’s climate. In addition to these,
archaeologists have studied the
skeletons of the victims and have
drawn conclusions about the diet and
life-styles of the residents.

71. The impact of the volcanic
eruption was '
(A) local
(B) global

(C),- regional

¢« (F) both local and global

72. Which of the following
statements is not related to the
passage :

¢ (A) The volcanic eruption elevate

a sea beach.

(B) It completely destroyed
Pompeii and Herculaneum

(C) It changed the course of a
river.

(D) It affected the
climate.

OTET/P-I
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Pompeii and Herculaneum are
cities.

A) Greek

(B) French

(C) Italian

(D) Spanish

expression, “wreaked

The
as used in the passage

havoc”,
means:___ -
(A) caused changes

(B) caused great destruction

(C) caused untold misery

(D) caused a destructive tidal

wave

Which of the following was not a

divect consequence  of the

volcanic eruption ?

(A) It caused the death of the
residents.

(B) It changed the course of
River Samo.

(C) It had impact on the world's

climate.
(D) It raised the level of the
sea-beach along the Bay of

Naples.

Which one of the following
sentences 1S correctly
punctuated ?
(A) To be frank; we don’t care
for our nation, do we !
(B) To be frank, we don’t care
_ for our nation, do we ?
(C) To be frank, we don’t care
for our nation ! do we ?

+ (D) To be frank; we don’t care

for our nation; do we ?

(Continued)



77. When I

78. The youngman wgs wearing a -

i

79. According to

met Manav, he

for ten years.
(A) married
(B) was married
had been married
(D) would have been married

jacket.

(A) black leather tight
(B) tight, leather, black
(C) black, tight, leather
/(D) tight, black, leather

U.S.
embassy  official,

U.S.A. wants peace in
Middle East.

(A) a, the, the

o (B) the, the, the
(C) an, the, the
(D) a, the, a

80. Which of the following is an

81.

important stage in the writing
process ?
(A) Memorization
(B) Editing
(C) Calligraphy
(D) Comprehension

What is the fundamental
objective of teaching poetry ?

(A) to utilize new techniques of
teaching.

to entertain the students.

to give students a chance to
express their emotions and
enjoy them.

-to break ' the monotony of
routine bound life.

B)
(&)
P

(D)

OTET/P-I
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foil'owing- _

Which  of  the

statements is not true :
/K; Development is a qualitative

process.
(B) Growth is a biological -
process.
(C) Education is a goal-oriented
. .process.
(D) Learning is a process of"-
behavioural changes.
As humans grow older, the l

of learning declines.
The most appropriate word to be
used in the blank is :

(A). power
(B) quantity
speed
(D). quality
We living 1in ° Puri
N 25 years now.
The best pair to be wused

respectively in the blanks is :
(A) are, for
(B) are, since

(C) have been, since

: U”d)) have been, for

The common order of arrangement
of adverbs of Time, Place, Manner
18 : ‘ \

(A) Place, Manner, Time

L})/Manner Time, Place
.{(C) Manner, Place, Time

(D) Time, Manner, Place
(Continued)




Read the following passage
indicate the options that offer the

most appropriate answers to the
questions that follow (Q. 86 to 90) :

and

Many years ago, when the art of
stunting plants was quite unheard of
except in remote areas of India,
Buddhist monks in isolated
monasteries in Tibet stunted trees
like the oak, orange tree, peepal tree,
watching with excitement, the tree
still flowering and bearing fruit
regardless of this “deformity”.
Subsequently the art was learnt by
some Chinese monks who taught
“Bonsai” making, an art which
became most sought after in China.
While China and India claimed rights
to the art and its practice, Japan
soon followed, enamoured by its
beauty. Today Japan leads in Bonsai
making of plants and has derived
new methodologies to make the
plants look artistic. The bonsai
remains full grown for even more
than ten years although it needs
constant pruning, watering shaping

and conducive environment.

86. The earliest practitioners of the
art of stunting plants belonged

to

* (A) India and Tibet
(B) China and Japan
(C) India and China
(D) India, China and Japan

OTET/P-I

87.

- are
A)
(B)
©)

+ (D)

88. “Stunting

(A)
2 (B)

()
D)

89. Which

SET : [ B]

In the passage the expressions,
«unheard of” and “sought after”

noun phrases
adjective phrases
adverb phrases
phrasal verbs

plants” means

making plants grow

luxuriantly
arresting the
plants

cutting them down
pruning them down

growth - of

of  the following

statements do not follow from
the passage ?

The art of stunting plants

A)
is much in demand in
China.

(B) Bonsai plants remain full
grown for over a decade.

» (C) Buddhist monks borrowed
the art of stunting plants
from India.

(D) India and China claimed
credit for developing the art
of stunting plants.

90. In the passage, the word,

‘enamoured’ means :

\>4A) amazed

(B) surprised

(C) amused

(D) fascinated

(Continued)
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T
|
91. @€ ©Q6@ CD @ BD QaIQER 91. In the given figure, CD and BD
ZACB B ZABE q qagg 3 are bisectors of ZACB and ZABE
~ gHiSw 816‘3‘, respectively. If ZBDC = 28°,
9@ ZBDC = 2g° Y9, ZABC + then the value of ZABC + ZACB
ZACB 6Q60 629 ? 18 —
D D
o A
NG = " E B C
@A) 28° ¢ @) 28°
B 56° (B) 56°
(C) 84° (C) 84°
(D) 124° (D) 124°
92. 8¢ T@6Q O Q89 689 | LSPQ = oo mle gtlad WV Ln figure, O -is .the
45° @ /T — N centre of the circle. If ZSPQ =
@ «TOP = 140° 626, LTRQ 45° and /TOP = 140°, find
ER6Q 689 ? /TRQ.
S S_—
|
é
4) 25° | (A) 25°
By 35° | (B) 35°
(C) 45° 3 (C) 45°
(D) 70° | (D) 70°
Qe @89l gIe/SPACE FOR ROUGH WORK
OTE_T/P'I 35 (Continued)



93. 6QITN QUA QYQYEQ sy G
Qg 6QIa Aueq algd@y 60°
6R6M, LLYEQ QY A°HYI 6QEC ?

A 5 e(B) 6
© 7 (D) 8

94. QARE QS B 968 Y1 6QIEN
QAP 5 R6Q *AT | F648 QY G
2 @4 g1 698 QIAQ 6 5r60.908 |
Je @648 QU - Qgieg T 2,800
2aIe6a gl algig, coee w68 |
g1Q FIga1 AgI2g 6R60 eszé;?'

(A) 1,000

71,200 N
(C) % 1,600 o
D) % 1,800

95. QG yQx%, zQ 1% A2 AAIF, 2

y%, x Q@ 1% 42 49 9Q° x Q 2%, |

y @ 1% 42 99« 2_\'],,6\066"

93. The

94.

95.

SET : [ B]

difference between the'

d exterior angles of a
is 60°. How
there in that

interior an
regular polygon
many sides are

polygon ?

A) b5 B) 6

c) 7 D) 8

Two men and a woman can do a

piece of work in 5 days. While a
man and 2 women can do it in
6 days. If a man is paid at the
rate of T 2,800 a week, what
should be the wages of a woman
in a week ?

A) 1,000

(B) ¥1,200

(C) ¥1,600

(D) % 1,800

- If x% of y is equal to 1% of z, y%

of z is equal to 1% of x and z% of
x is equal to 1% of y, then what
will be the value of xy + yz + zx ?

xy + yz + zx Q €19 6Q€E 629 ? ; 4 1
5, i g ®) 2
%;/i : g ) 3
D) o ) o

OTET/P-1 e b

Qe @8l gIR/SPACE FOR ROUGH WORK

(Continued)
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96. ¢ Gﬁhg@ga 40 — 50Q Q@Gﬂ@ 96. In ‘the given graph, find the-
cumulative frequency of the

QIRRIQGI T @Q | interval 40 — 50
imtrerva - .

507 501
401 | 401
301 Eodl
201 |
10 10
0l 10 20 30 40 50 60 70 ol 10 20 30 40 50 60 70

40

) o (A) 40

B) 70 8, 70

() 10 ©) 110

(D) 120 @y 195
97. 6OITN NCARQ T4, gg 6 97. The length, breadth & height of
QLel QAIFE 18 6Qd, 14 6Qd G a cuboid are 18 cm, 14 cm and

= ~I 16 cm respectively. How many
16 64¢1 | QQQ 4 64¢ 69w QAY .
cubes having sides 4 cm each

QIg. 6@6EIT daae Qdidia can be cut of this cuboid ?

’ I ? (A) 58
@) 58 | ® 63
OB 63 | © a2
©) 42 |
D) 48 | G

QP a2l gie/SPACE FOR ROUGH WORK

OTET/P-1 37 (Continued)
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“Bach prime number has two

98.  “geeye 6AlRe Qi gad 98.
QORIBR AT | NeIg gals QA< factors.” What method should be |
aid giefie gasa €Y A% followed to prove it at the |
QAR QAL ? primary level ?
acale s (&) Inductive
B) AL (B) Deductive
(C) 6486 (C) Analysis
(D) goqug (D) SyntheSiS
99. 6QIT @68 Qdgaq Aag ' 99. If the sum of the diagonals of a
100 6Q8 626m, YRIQA 6IQTR | square is 100 cm, what will be
6R60 629 ? ) its area ? :
(A) 5000 Q¢ 627 - (A) 5000 cm?
U (B) 12596 629 (B) 125 cm?
(O 100+/2 @6 647 . (C) 1004/2 cm?
Yy~ 1250 96 626 (D) 1250 cm?
100. 7, 26, 63, 124, 215, 342, % | 100. Which number will lie in place
g2 2g9996a * gI9ea 6@ | of % in the given series ?
QT A2 ? = 7,26, 63, 124, 215, 342, %
(A 541 | A) 541 |
415 3 { ®) 415
Oy ;511 . | (C) 511
ae @@el gie/SPACE FOR ROUGH WORK
(Continued)
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101. {919 69910 R6q Fmeh 16 x 25
Q YITR FAAEE Felo qau

16 xX25=8x2x5x%x5

= 8%x5%x2x%x5
= 40x% 10

QYL QAT ?

(A) QLeaian
B) QFeeqIq

C) gI9a oG

D) Gae

102. 6296 <deq 99 99a 26T ?

Q) TR
L@q/écr‘ae
©C) QUIFRQ

D) @gaa

|
|
|
|

SET : [B}.

101. A class 3 stﬁcjéht pe'x;fdfrms‘""

multlphcatlon of © 16 X 25‘ as

)
ﬂ '

follows : |
16 x 25 = 8x2x5x5
= 8x5x2_x5

40 x 10

= 400
Which property of multiplication
has "the student used in this
qﬁggiion g _ ‘
(A) Associative
" (B) Repeated addition
© Inverse m'ulfiplication _'

~ ¢ (D) Distributive

102 Wh1ch of the followmg is a

nature of Mathematlcs ?
(A) Ornamental

o (B) Logical
(C) Philosophical

(D) Difficulty

Qe @6Ql gIe/SPACE FOR ROUGH WORK

OTET/p | 39 (Cont‘in’n’i'ed)



103. 4@ G&e 6genea daw F9 94

gee asIden, Qe : '

() QaF ¢ Fga 92 D12
saigae 12. 5

(i) Y@ G ISR @9 QI

adqiql 58 6ad. Y

(i) 25Q OLIAR YoR 6AY RE~

(v) QRN Q @} Q'€ ? 7y
QUEUIY gq YER auQ :

UA)/ @ 6 (i) 98 20Q IR 1
(iii) 8 (iv) 76g @aa pe

94 | |
B () 6 (i) 5d8 Q@ gee

NQ* (ii) 8 (iv) g9 Q0Q9Re

g9 |
© @), @) 8 (i) 35g eea gee
N@° (iv) g9 20Q99e g4 |
D) @), @i) 6 (iv) 58a Qaq
99 N9° (i) 99 20aee
g4q |

R L

TU—.) W e W am—" waess umss—s

SET :| B

103. Following questions are posed
by the teacher in a Mathematics

clagsroom :
(i) Find two numbers whose

gsum is 12. -

(i) Draw a triangle with
perimeter 58 cm.

(iii) Write down the factors of
25.

(iv) What is the definition of
‘Perimeter’ ? '

Among the above questions :

(A) (@) & (ii) are open ended
and (iii) & (iv) are closed
ended questions.

B) (1) & (iii) are closed ended
and (i) & (lv) are open
ended‘questions. | |

€©) @, () & (iii) are closed
ended. and (iv)

ended questions.

1S open

M) @), (i) & (iv) are closed
ended and (ii) is open

ended questions.

O 9G9I gIR/SPACE FOR ROUGH WORK



104.

Q

105.

e\q‘aaeq “FVRR Q9eQ Q&
6QIM 2SI cQQeeM ?

A) AIRYSR
B) \R. xQ
) TR AQ
D) 2AINeE

64 99081 A8ie ALINS! AN9ER
2RISR A0 QR 99F, QTR
Q649 6298 —

@) SaResq A6RI0ES QaQ!

106.

B) R AV QAR

(O @Rdinieg g Qye!
¢o(D) QINQ AR @A

GOg 69@ 219/5€98 I

QIo¥ga  2RIQ-2005  2AQAIAT
gefie JIRa 9fe aloigaa
2BQYS G6E ?

A) 961669 SIan FRIRS! /-
CIERRR ANR1A

L/(ﬁ) qlgsn

107.

(C) QR

(D) 2gQIe

Qelg gede qRe SUIAGA |9@
6QIR gRIAIN ?

A) 92 QIIm

(C) eaa i @) Qgie a6am

!
l
!
i
|
|

104.

105.

106.

SET:| B

Who stated Mathematics as the
“Queen of Sciences” ?

(A) Aristotle

(B)- -L. Bers
"(C) Friedrich Gauss

(D) Aryabhatta

A teacher uses role play method
in Mathematics class. Her aim is
A)
(B)

(©)
D)

entertaining children
maintaining discipline
keeping children busy .

projecting ideas

Which of the following topics are
not part of the primary school

. Mathematics curriculum as per

107.

NCF 2005 ?

A) Tessella_tidh
(B) Symmetry
© Patterns
(D) Ratio

Who is regarded as the father of
Demonstrative Geometry ?

(A) Euclid

. (B) Samuel

(C) Cunning Ham

(D) Bertrand Russel

Qe @69 gI9/SPACE FOR ROUGH WORK



108. ANG-QF, QQ-AAE, <@@-68IF,

QAI-6816 AGUIR UIQE &R
6ROR QTR F64T4 YR

(B) 99€ 94 99 Q°ayl A4l
Qe

C) QRaI *ERIIR @8 29q 4

(D) [ae 99 QEe, aI1gl 9de

g QIR AIRNIR Q6L

109. 89g I 699e adeq 9qd
aneece qgo@ QALY 266 ?
() Y2 dgg 99991 QA
AILIAIREQ | |

(1) \’lﬁ'l ﬂﬂ@ G’@G‘I 61@@ €dIgsl
QQQIGQ LIy @2l |

(iii) 98I ALEAILAYS 0 QUCQ
adieede |
(iv) 92! A9QI 2RAIQ1 621N |
0Q 8086 QI8 "
A) () 6 (i) OR
Le/eB{ (i) 6 (ii) OR .
©) (), (i) 8 (iii) OR
(D) (ii) @ (iii) 6@.1 |

109. Which of the

|
|
|
|
l

_SET:|B]

s.1,

108. Coné‘épil:ls' like more-less, far-

near, big- small long-short- etc.
are —
(A) Simply language adjectlves
(B) Important pre number
concepts "
o (C) Vague
| comparison :
. (D) Antonyms, not  necessary
(% for learning Mathematics

terms for

following
statements about nafure ~of
Mathematics are ‘most
appropriate ? LR

(1) It helps the child to be

_ .‘creatlve S Ay seiinoa avs

(), Itr helps in. nurturmg the,
_-chlld-s imagination. -.

(111) It is 'based -on: deductlve
reasomng

@iv) Itis always cbﬁﬁéfgenti
Choose the éorrect"opfiqn. .
(A)’ (1) & (iii) are true. .
B) () & (ii) are triie, -

©) @), () & (iii) are true.

i (D) (11) & (111) are true.

QGP G‘Q@I QIG‘/SPACE FOR ROUGH WORK
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110. 504 Q 6REQIT QaAR 2T ? | 110. How many factors 504 has ?
o A 12 ' A 12
B) 22 ®) 22
24 C) 24
®) 18 D) 18
X 7_ 5 x 7 5 .
111. 38 + Y19 = 62_4 €L6m, x + y Q 111. If3§+ Y15 = 6'22, find the value
My 6RES ? of x+y.
&) 5 | @5
M ®) 9
€ 7 C) 7
@) 6 | D) 6
112. 661G QQIQ GGG @€l G Qg @<l | 112, The minute and hour hands of a
Y FIEQ deERIE q@ 6EQIA clock make a right angle. After
6QREC P U6 XYY Yl how long will they form a right
AFEREI6Q QRER ? angle again ?
£ (&) 3036 (A) 30 min.

8 ~~ ; B) .32ﬁ min.
(B) 32—1' AR

©) '33% min.
D) 34 &ae (D) 34 min.

———

1 l

3 |

(©) 337 dRQ j
| |

|

Qe @&9 gIR/SPACE FOR ROUGH WORK

O ./,,
OTET/P-1 43 Zinued)



113. 5aQ €9Q Q°GMITQ 363, 489 G
579 QAR AINGAY 2T ?
(A) 562
_ 471
(C) 382
(D) 281

40
QRS @8 Gyl 01 AR YABIER

3 = v
114. 2 5 QIS Q°GlYl 66 6@«

ag ? ,
2.3 /3.4
@) 1582 93/5‘35

1, .2 P!
© 1,625 (D) 25634

115. 691I5Nd QIgds @9€ A°HIIQ LRIQ

B 99 FIFQ AL gIe AR

QR RAQIQY AT AIe 3960
ofonl, 692 2egaa aday §a

- 115.

SET : | B

113. Which of the following number
is similar to the number 363,
489 and 579 ?

(A) 562
B) 471
(C) 382
(D) 281

3 it
114. The number 275 is equidistant

from which twd f_ractional

numbers on a number line ?

2,8 3.4
@) 15&2; B) &3

1

©) 11&2% D) 2z &

Ot =
,;;bf,_.

In a five digit number, by
.interchanging the place of .
thousandth and tenth place
digit, the value of the number
decreases 3960. Find the
difference between these two

Q|
numbers.
@) 7 ; @ 7
P | ®) 6
B = | D) 4
Qe @89l gI6/SPACE FOR ROUGH WORK
OTET/P-1 44 (Continued)




116. €%

29 od 959, saidy qI6Q 10 &
SO%a! eeasq 2 § ggel Aggal,
6 T 9g0l 9oreq 2§ 58 agaaul
NS® 10 © 652 oosq 2 G aa
23Rl 1 6062 5 & Qi QRR6Q
€989IS s0ga digge o

Q) 225

By 240

117.

118.

© 250
D) 375

213 4 9l . S

15 + 216 ‘éﬂg [Nara)
Q°IQ 9 QEeR aIsg ?

N

@ 7 @) 19
© 17 « D)Y715
A 8 B g2 o1 &3 T 780 g,

= 1 =
A QR ORI, d°a B B @ oQI_

ia%a S Q39 a6a Qeas

- a - - . S - S o S St ¥ S " ¥ P s S

AW DRI SO 9 o 1t @ L P i S O

SET:|B

116. Many years ago, a village used

117.

118

chickens

2 goats instead of

to get 2 Instead of
10 rabbits,
6 chickens and 2 cows instead of
Then how many

rabbits will be found instead of

10 goats.

5 cows ?
A) 225
B)
©)
(D)

N
=1 Ut
o O

(W]

LW N

213 + 214 4+ 215 + 216 j5 3 multiple
of which of the

number ?
A 7

© 17

following

(B) 19
D) 15

A and B has T 780 altogether.
After spending g5 of A’s and —‘h of

B’s money, both have left same

QIgeQ QIR SSI Q@al | A amount of money. How much
QISEQ QEIEA 6966 G YA ? money did A have at first ?
A) 450 ﬁ)/? 468 () T450  (B) 468
(C) T490 (D) 500 § (C) 490 (D) %500
| :
{
QQ’ QéQI ng/SPACE FOR ROUGH WORK
OTET/P-1 43 (Continued)



119. 66T AR CIRG 6R6GIT ERIV

SQIRYER | GIR G GIR QYRS
6AlIe g8 QIR gRge A6as
6AFIRTQ EAIS 6AIG QB 14
2ye | GRER gel IR e

6@6¢ ?

A 5

s

(C) 8

(D) 10

120. @4 QIg 339 IQ QAR 9299 /4

.}/35

Q°GYl 6@6C ?

@A) 20
®) 25

(C) 30

|
|
|
|
|

SET:[B

119. Some people were feeding a

120.

herd of cows. What is the total

number of cows, if the total

number of legs is .14 more

than twice the total numbers of

cowé and the cow-keepers in the
herd ?
@A) 5
(B) 7
©) 8

(D) 10

What is the number of diagon‘allé
of a convex polygon having ten
sides ? ‘
@) 20

®B) 25

(©) 30

(D) 35

&

OTET/P-1

46

Qe @69l gIR/SPACE FOR ROUGH WORK

(Continued)



ﬁ SET :
L aqe¢ IrIe® / ENVIRONMENTAL SCIENCE J |
o) o= g |
121. 699 QVRIG 9@y @QIeeea | 121.In which agricultural crop

WAL RIS QQOIQ aeag

QARG 6LINT ?
A) 6’Ig Qql
(C) 9eq D) aigy

122. 98 AARe @de aeid QReRIaq
QR 6QITTF QIT 6AG |

(A) <2 —eRAQM
By 6RIad —ag
(C) 49&Ql —aiTae

D) QUAREAIT — QAN

123. 62Q RIQAQ IR AL 95
el ?
(A) 690e9Iq
(B) 69241
u@/ qgaiq
D) qQAIR
124. 60Q GQQae g9 AR

aege ?
(/MA{Q RISl
B) gam
(C) @gemst
D) o[l _
125. 36l 69 ABREQ ofe- Qde
6AIgaN QIQFIQI QEAIC 62IR eI ?
A) AR AR
L»/(B?/G?Qﬂ@qa QAR
C) @=d AR
D) G@alagqge

OTET/P-I

47&

B AN S A L W L) LSS ) LT TS Y7L WS

122.

123.

124.

125.

prdduction has there been a lot of
improvement after independence
in India ?

(A) dJute (B) Cotton

© Wheat (D) Swugarcane
Select the odd pair on the basis
of mines and the related
minerals :

(A) Jharia — Coal

(B) Koderma — Mica

(C) Sukinda — Manganese
(D) Damanjodi — Bauxite

Which tybe of food does contain
more energy ?

(A) Carbohydrates

(B) Fats

© Proteins

(D) Minerals

Which mountain pass is located
in the Eastern Himalayas ?

(A) Nathula
(B) Brazil
(C) Lipulekh
D) Zoji La

In which of the following areas
there is no rainfall by the South
West monsoon ? '

(A) The Malabar Coast

(B). The Coromondal Coast

(C) The Konkan Coast

(D) The Odisha Coast

(Continﬁéaj
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126. Which has more

127.

128.

129.

SET :| B]

attraction

towards red blood corpuscles ?

(A)
(B)
©)
D)

Oxygen
Carbon monoxide
Nitrogen

Carbon dioxide

What step is taken when a Bill
is not accepted by the Rajya
Sabha having been passed by
the Lok Sabha ?

(A)
(B)

(©€)

D)

The Bill is debated again in
the Lok Sabha.

The Bill is sent to the
President.

The Bill is presented in the
joint session of  the
Parliament.

The opinion of the
Supreme Court is sought.

Which is the largest internal

organ of human body ?

(A)
(B)
©)
(D)

Stomach
Kidney
Heart

Liver

Which is a bacterial disease ?

(A)
(B)
(©)
D)

Cholera
Chicken pox
Polio

Small pox
(Continued)
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1330,

131,

132,

133.

ST 5
Which institution is nesocinboed
with the loenl Belf-Covernment
of rurnl nron ?
(A) Notifiod Aren Council
(I3)  Municipnl Corporntion
(C) Zilln Parishnd
(D)  Logislative Council

Which of the following is the

oxtonsion of the North

tomporate zono ?

(A) From Tropic of Capricorn
to Antarctic circle.

(B) TFrom Equntor to Tropic of
Capricorn.

(C) From Equator to T'ropic of
Cancer.

(D) From Tropic of Cancer to
Arctic Circle.

Which incident is not associated
with the Gandhian Movement ?
(A) Chouri Choura Incident

(B) Bhendibazar Riot

(C) Champaran Satyagraha
(D) Dharsana Incident

How many times will be the
kinetic energy of a body increase

whose momentum became two
times ?

A) 2
B) 4
(C) 8
D) 16

(Continued)
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134. In which two planets the Sun
rises in the West and sets in the

East ?

(A) Venus and Uranus

(B) Saturn and Uranus

(C) Jupiter and Saturn

(D) Mercury and Venus

The melting point and the

point of liquefaction of a

substance are the same.

(i) The molecule and the atom
of a rare gas are the same.

(iii) The mass and weight of a
substance are the same.

(A) (@) & (iii) are wrong and (1)
is correct.

(B) (i) & (iii) are wrong and (1)
is correct.

(C) (1) & (i1) are wrong and (ii1)
is correct. i

D) (1), (i) & (ii1) are wrong.

135. (i)

186. Which is mnot a factor of

controlling climate ?
(A) Latitude
(B) Distance from the sea

(C) Longitude
(D) Altitude

137. Which of the following is the
average salinity of the ocean ?
(A)  31%o '
(B) 33%o
(C) 35%o0
D) 37%o
(Continued)
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138. An athlete of mass 45 kg can
jump to a maximum height of
1.5 m in the playground. To

what maximum height the same

athlete could jump on the

surface of the moon ?

(A) 025m

B) 15m

© 9m

(D) 11.5m

139. 1)) Air is a homogeneous

mixture. '

(i1) ' 24 carat gold is an alloy of
gold and copper.

: (i) Amalgam is an alloy. -

() (i) is correct and (ii) & (m)

~ are wrong. '

(B) (1) 1s correct and (1) & (ii1)
are wrong.

(C) (@) and (i11) are con.'ect and
(i1) is wrong.
D) @), (ii) and (iii) are wrong.

Out of the following, which does
not indicate a part of asexual

140.

reproduction in plants ?
(A) Fission

(B) Budding

" (C) Sporulation "

(D) Fertilization

(Continued)
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141. “Water vapour is present in the
: Air.” This was explained by a

teacher keeping pieces of ice in
the glass and exhibiting water
droplets on the outer surface of
it after a while. Which role of
the teacher does 1t signify ?

(A) Manager (B) Care-taker

(C) Facilitator (D) Guide

To visit a geographical location
for objective based observation
way 1is called

in a planned

Free observation

(&)
(B)
©)
(D)

Controlled observation
Direct observation

Indirect observation

Which of the following is the
main  objective of science
teaching ?

(A) Cognitive development

(B)
(C)
(D)

Psychomotor developrﬁent
Affective development
All of the above

Which strategy should a teacher
emphasize in day to day
teaching science effectively ?

LAA)
(B)
(©)
(D)

144.

Co-curricular planning
Lesson planning
Unit planning
Class-room management
planning

(Continued)
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145. Which is not the aim of studying
environmental studies at the
elementary education stage ?

(A) To be aware of the
importance of
environment.

(B) To know the means of
Balancing environment.

(C) To learn the skill of value
oriented life style.

(D) Intensive use of natural

resources.
146. Which subject matters are
under the scope of

Environmental Science ?

(A) Science, History, Language
and Geography -

(B) Science, Geography,
Mathematics and Political
Science

(C) Science, Geography,

History and Political
Science

(D) Geography, History,
Political Science and
Language

147. Out of the different types of test
items in “Environmental
Studies” which type of question
possess less possibility of guess
In answering ?
(A) To answer
sentence

(B) To fill in the blanks
(C) Multiple choice question

in a single

(D) Analogy question
(Continued)
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148. Thought provoking questions

149.

Y

150.

are asked while teaching

History, because they help the

pupils :
(A) To  develop divergent
thinking ability.

(B) To analyse the incidents
that have occurred.
To predict the occurrence

of the next probable event

(©)

from its analytical account.
(D) To develop all of the above

possibilities.

“Time-line” is used in History
teaching, because pupils can

establish relationship -
. between two or more
historical events taking

place simultaneously.

(B) remember historical events
easily.
(C) express the historical

events chronologically.
All of the above activities
can do. ‘

D)

Out of the following which
processes are possible for direct
experience relating to
environment ?

(A) Survey

(B) Field visit

(C) Project

(D) All of the above

(Continued)






